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1)Melanin present in all of the following except:
A- Spinal cord
B- Skin
C- Eye
D- Brain stem
Answer :D
2)Thermoregulatory center presentin :
A- Hypothalamus
B- Thalamus
Answer :A

3)All of the following is hyperuric except:

4)Troponin C bind to:
A-Ca

B- Na

C- none

Answer : A
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5)Thin dark line across the center of the H zone of a striated muscle fiber: :
A- M line I
B- Z line '
C- H band :
D- | band I
Answer : A :
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6)All of the following drugs used for treatment of hyperhidrosis except :

Sympathomimetics

7)All of the following is contraindications topical steroid except:

Eczema

8)Heat Strock include all the following except:

Cold skin

9)Control center of increase the temperature is:
A- Hypothalamus

B- thalamus

Answer : A

10)Release of calcitonin associated with:
A- hypokalemia
B- hypercalcemia
Answer : B

@) Which of the following correct about cavity of shoulder joint:

Communicate with subscapular bursae

12)Syndycatyle :
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13)Most contagious disease:
A- Measles
B- rubella
C none
Answer : A

14)Pigs are considered hosts:

Tracheal spirals

15)Red muscle it's about it, except:

Adapted rapid short action

Seat belt

17) All of the following are related Isotonic contraction except:

SE stretched

18)correct about Civatte:
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16)All of the following are preventive measures except: :
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19) Which of the following happened with epiphysis :

giant cell tumor

BBWhich of the following did NOT happen with myasthenia gravis :

symptoms improvement with repeated stimulation

23)Lichen planus:
A- CD8
B- CD4
C- both

D- non of the following

Answer : A

24) One of the following is incorrect about cytokines modulators:

Infliximab can be used alone

25)X=18:

A- liposarcoma

B- Synovial sarcoma

C- pleomorphic sarcoma
D- non of the following
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26) ligament which fix dens of axis
A- lateral ligament

B- medial ligament

C- cruciate

Answer : C

27) medicine that relieves the pain of osteoporosis and at the same time
the patient has heart disease?

What medicine should not be taken?

celecoxib
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